AHSEE PREMEIVIGERFEYNE ERHER - RXFHRRUVERBER - ICORRRBER]

Rl

i ig TR B i
(M)
" A EEHE-INEZTEHE BERE-INTRE
] B S £ % = £ £ & =
KB E CEBE) 580,000 580,000
SHLEERENHNE (570,000) (580,000)
ART#HEIEGEEE) 287,000 287,000
FHBE LS DURA 1,091,964 846,497
a5t 1,958,964 1,713,497
X H K TRV TN I EOBLIEICET 205
GEESES 5 GEEREES
ﬁﬁg LA S ixﬁ?fgﬁig éﬁg% BERE [ *x1oLg X%Fﬁafﬁﬁ éﬁ;g&% BERE [ *1ooLs MBERA (ZOMBOERA
@ 1|mRmE 128 40,500 0 of 128 0 0 0 0 0
el 2 R/ Ak R AR B SR AR 108 (2 th;EH TR 108 (fH:E B THE)
. | 3|FEEMB KM EEE BE 10,000 10,000 of @& 0 0 0 0 0
B¢ 4
1|[HtERES 8A~3A 660,000] 310,000 of 8A~3A 497,758 189,058 0 189,058 308,700
1. | 2 |Bsesmines 8H24H CE{Z#;EHTHEE) 8H24H CE{ZH#E R THE)
&3 |BDFITRT4/NL 2R GE{CH B TR 28 GE{C B THRE)
3 |4 |@mngxys-vorR—LsE]| BE CE{ZH#EHTHREE mE GE{ZHEH THRE)
%,y 5 [Fah R AR BN R BE (BEMERHTHE WE (BEMERTHE)
& |6
7
o |1 |[EBAEADLOORFYHHE B 295,000 285,000 10000 &% 90,000 90,000 0 0 90,000
| [k 2
I, 1
2
e,
#+.
2
BHE(;
(|1 |EX X HREE 11A~128 338,800] 338,800 of11A~128 565,093 553,226 0 390,942 174,151
ie| 2 [N EREEFEL—L BE (KEMEHTHE BE (KEHEHTHE)
- | 3 [memenhEEREKEEEY| BE (REHFHTHRE BE (REHFERHTHRE)
71-?(— 4| RRABYRE 8H (BB THEE 8A (kB FERTHRE)
\y 5
EE BB & 1,344,300) 943,800 10,000 1,152,851| 832,284 0 580,000 572,851
5E§T§¥ﬁﬁm0§Lﬁ<%ﬁwjﬁﬁi) 60.4% 69.69%
z _:; it 1,323,’33 1,2&13;:221 10,000 1,3?3}?33 1,232,'3;(6) 0 gg;,ggg%




